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Instructions for the candidates :-

1. Temdf OMR ITR-UFeh TR (U1 U Gf&IehT shich (10 3ichl o) 3raey ford |
Candidate must enter his/her Question Booklet Serial No. (10 Digits ) in the

OMR Answer Sheet.
o. Ttereff gAY 31U Qreel # gl IR 2|

Candidates are required to give answers in their own words as far as

practicable.

3. IR iR g1 wR iy gy ik gurfes FAfdE e &

Figures in the right hand margin indicate full marks.

4. Ul Pl YLD UeH o folq Ttential ol 15 fme o1 sifafes Twa fkamman @ |
15 minutes of extra time have been allotted for the candidate to read the

questions carefully.

5. g UH Yfichl &l WUt # § WUS -3 Ud WUE - |

This question booklet is divided into two sections - Section A and

Section-B.



6. T@US-IN T 70 TS U §, f0 T fohgl 35 Uit a1 IR AT A1fard €1 35  arfdren wsif &
IR &4 IR UUH 35 I I 6! JedichT [ohdT ST Udeh UH ok ol 1 3fch FgilRd 81 98 I
Uy hIY Y OMR IR UIch | U 71T T&l gd ht Afiet / hret dfet 09 & 91| fohelt it yhR o6
gTER /| IRA 1Y / slg / ARG 31 T IR Uslch H TINT hAT HAT 8, =0T Tetr gRumH
ST BT |
In Section - A, there are 70 Objective type questions, out of which any 35 questions
are to be answered. If more than 35 questions are answered , then only first 35 will
be evaluated . Each question carries 1 mark. Darken the circle with blue/black ball
pen against the correct option on OMR Answer sheet provided to you. Do not use
whitener/liquid/blade/nail etc. on OMR Answer sheet , otherwise the result will be
treated invalid.

7. @US - § H 20 7Y STRIY U 5| Udeh U o folq 2 3fen [eriRa &, foid & =gl 10
UL el IR T e g1 37ch S1fafk<h, 39 WS | 6 & U Ru U €, udeh usH
& forg 5 3 Ruifa €. fS=e @ fohgl 3 Ut T IR AT & |

In Section -B, there are 20 short answer type questions, Each question carrying
2 marks, out of which any 10 questions are to be answered. Apart from these,
there are 6 Long Answer Type questions, each carrying 5 marks, out of which
any 3 questions are to be answered.

8.  fohdll UhR ok Selagii=ch JUhUT AT TANT YuidaT afsid g

Use of any electronic appliances is strictly prohibited.



WUs - 3 / Section - A
a8 U2 / Objective Type Questions

U ST 1 § 70 ek h ULt & 91y 9R faereu Rg e @, 9919 | ver 9t 21 fahgl 35
"Lt & IR &1 YA ZRT g+ ¢ "t RAdhed vt OMR sfie ik Rifga &3 |

Question Nos. 1 to 70 have four options, out which only one is correct. Answer any
35 questions. You have to mark your selected correct option on the OMR sheet.

35x1=35
1. A=A A o -ar A TRl 6 ugar= &t udfad A ardar 9ca g ?
A) Si=aRen AT hY AT B) fAffa s
(© uafaror & fem sawR (D) Sudh d | i T
Which of the following factors affect identification of business opportunities?
(A) Volume of internal demand (B) Created opportunity
(C) Existing opportunities in the (D) None of the Above

environment

2. A A3 RT-GT AER BTUFRRE ?

(A) UUH AR ®) fAffasawR

©) arf=m IaeR (D) T @ iE T
Which of the following is a kind of opportunity?

(A) First opportunity (B) Created opportunity

(C) Last opportunity (D) None of the these

3. Fadd N -grsERAYRTdadg ?

a) THzT R ARE (B) uRadw ar R

(©) Sauad-ia o D) FHIaf

Which of the following is an element of sensing the opportunities?
@A) Ability to perceive (B) Insight into the change

(©) Innovative quality (D) Allofthese
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4, 3nfder ggraare :-
@) fama (B) @@ © www@m (D) sFHITH
Subsidy is :-
(A)  Concession (B) Discount (C) Repayment (D) None of these

5. T 3i<i ufehar § enfAe gid & :-
@A) e (B) segfkar (C) WAIWME (D) waTeH, TG Qe SrgfkaT
Learning process involves :-

(A) Drive (B) Cue (C) Response (D) Drive, Cue & Response
6. TSI o hY AT BT & :-

(A) THTST & Foharees fasme @ (B) sfa & forarares fvme @

(C) I & ferareas (v @ (D) SuRih A @ &S T

Social structure is composed of :-

(A) Functional division of society (B) Functional division of caste

(C) Functional division of community (D) None of the above

7. WRONG r=fAa 7g1 gl & -

a) Jcd (B) &R gr &

(C) i<t gsft ot v | (D) TerH e T &
Incentive are not concerned with :-

(A) Rebate (B) Exemption from Tax
(C) Provision of seed capital (D) Lump-sum payment

8. =1 & | &l= wivT gafga= 7 afafaa ars 82

A) gafgar &t sarg (B) yafqar & &R

(C) IuTE e aiffepvor (D) SwRi=h 9ft

Which of the following is a factor involved in demand forecasting ?
(A) Length of forecasting (B) Levels of forecasting

(©) Classification of product (D) Al of the above
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9. #i yalga™ &t A= 7 & fohw =u & ST S 82
(a) fAgo= (B) dTSTR |

(€  #hTud gfed (D) SwRieE gt
Demand forecasting is termed as which of the following ?
(A)  Marketing (B) Market Demand
(© Demand and Supply (D)  All of the above
10. Sreqahlet= gafga fohast arg i srafd ) enfae wzar g2
@) 12+5E (B) 24 wTg

(© 18nwE (D) 36 118

Short term forecast involve a period of how many months ?

a) 12 Months (B) 24 Months

© 18 Months (D) 36 Months

11. oo & @y A T anfae &2
A) I FAgsE (B) IS ohT iffenzor
(©) Su¥i=H (D) uTgsh

What is included in nature of marketing ?
(A)  Product planning (B) Classification of product

©) Consumer (D) Customer



12. SuH &t = 7 @ p-a1 RE g1 A a1 SwRER@ 82
Q) S Rt (B) =R

©C) STAFAITA’ 3R T ‘B’ (D) SuRiwh ‘A’ Td ‘B’ gl

Entrepreneur have the responsibility to meet which of the following obligation?
(A) Product Planning (B) Managerial

(C) Neither ‘A’ nor ‘B’ (D) Both ‘A’ & ‘B’

13. = & 9 fohaepr IauTE T |ar ST TG HRA THY ST IEHT SR Aol g ?

A) IR & AyiRor (B) TagiiRedr
© ufagifar (D) S fAareE
Which of the following is not to be considered while selecting a product or service ?
(A) Marketing Assessment (B) Practicability
(C)  Competition (D) Product Planning

14. TfE I B G R HAT &1 At T I saaara & fRa urey &t ude

ST ?
(A)  Ueprehl aoTUR (B) dIrEE™
© ST (D) Suds A Q&I T

An entrepreneur prefers which form of organisation, if production is to be
undertaken on small scale basis ?

a) Sole Trade (B) Partnership

(©) company (D) None of the above



15. OqET <kl T iST o1 fAAfor 3mg &a st ?

Q) Iared fAatsE @k (B) «mrd fRais= @k
(C) fa<ha gl s (D) SwRih Gt ek
How will you formulate general plan of business?
(A) By production planning (B) By cost planning
(C) By financial planning (D) By doing all the above
16. ETSTR ® gofar Y feafa &t o A swar @ st siwaa: fash ga & & gfg awear g2
A) srfasrr (B) e
() fagur (D) Sudk & Q *IE T

What creates perfection in the market which ultimately increases the
volume of sales and profit ?

(d) Invention (B) Promotion
(©) Marketing (D) None of the above
17. A= d O fhgen! caaa@Ae ™ 6 @isr & =u & gRafta frar srar g ?

&) Sarg (B) Wad+
(©) fRAuuH (D) SdrEd

Out of the following which is defined as the discovery of business opportunities?
(A) Product (B) Promotion
(C) Marketing (D) Production

18. IUHA I AT Thid THT A S ara fag & -

A) S (B) fagu=

(€) Ysht Y Iuereerar (D) Sufwr # @ S &
The point to be considered while selecting an enterprise is :-
(A4) Product (B) Marketing

(© Availability of capital (D) None of the Above



19 fRae anfeasg:-

Q) "™ ZRT (B) a=nfAes udyr gRT

(© AvudBzaHl (D) TH @ FIE TFF
Planning is organised by :-

A) Management (B) Scientific management
(C) Both“A”&“B” (D) None of these

20. a9y fAgte # anfae frad @ -

(A) e+ =1 s (B) s1H-21f<h hY Srmragerdr et AaisT_ AT
(C) ufatst=1 e &1 RS (D) Iudsh Tt
Activities involved in business planning are :-
(A) Planning the organisation (B) Planning the manpower requirement
(C) Planning of project work. (D) Allof the Above

21. ogourafPAlSH HTUTE@Aga s -
) Fazrerafan ot spfda st ® (B) Ram-REem d

(C) Sl f<h U= & § (D) Sud=h woft

The main importance of business planning is :-

(A) In attracting investers (B) In providing guidelines

(C) In providing leverage (D) All of the Above



22, HqE™ AHie & g sraua g -

(A) HgET 1 guia
(c) ‘A’ -qa'-:B, aT_ﬁ-

(B) srfremr<h TrRisr
(D) TA’ RT ‘B’

The main components of business planning are :-

(A) Business description

(©) Both ‘A’ and ‘B’

23. Ueh 3=} gisHT gl & :-
a) e

(C) eraygef

A good planiis :-
(A) Expensive
(©) Flexible

24. RAlSE -

(3) seg - srfaet
(C) wr=fdres uferar
Planning is :-

(A) Goal oriented

(C) Mental process

(B) Executive summary

(D) Neither ‘A’ nor ‘B’

(B) IHa A arefl
(D) wehiof

(B) Time consuming

(D)  Rigid

(B) Ikea- aifdvgeh

(D) @ g

(B) Obijective oriented

(D) Allofthese



25. RGISTHT o1 Siiaq osh Afaf@a @ aafRaadigar e :-

a) fafaah - gd @ror (B) TI-ITcHeh TROT
(C©) aH=fteRRoT TR (D) e AFHoT TROT
Project life cycle is not concerned with the following :-
(A) Pre-investment stage. (B) Constructive stage.
(C) Normalisation stage. (D) stabilisation Stage
26. gfatsrn A= @ awaf=a [gi gidt 8 :-
Q) TavEda (B) aheuT 21k
© <ifew (D) st
Project is not concerned with :-
(A) Innovation (B) Vvision
(© Risk (D) Creativity
27. Qe uRAts g -
@A) wnfafafaat o agg (B) weret nfafafa
(C) srsig mafafdt o1 a5 (D) 99 Q ig AT
A projectis :-
(A) Cluster of activities. (B) Single activity

(C) Group of innumerable activities (D) None of these

28. yRUIGTh AR FA R g frarmar = ¢ :-
@) fafats B) =@ (C) syemm (D) T H @ @i )

Money spent on the preparation of project is :-
(A) Investment (B) Expenditure (C) wastage (D) None of these
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29. hReh UIAdT U= YRGS @ :-
Q) gsft vae uRate=g (B) = ememRa uRaisHd
(©) amihr srfaeht urea aRgisd (D)  (A) & (B) &A1

Factor intensity oriented projects are :-

(A) capital oriented projects (B) Labour intensive projects

(C) Technology oriented projects (D) Both (A) and (B)

30. gfRRAlSHT TR hY STt & -

(A) wadehl gRT (B) Sl grr
(C) uStrehl gRT D) zaafidkzr
Project is prepared :-
(A) By promoters (B) By Managers
(C) By Entrepreneurs (D) By all of these

31. fder fAsAvor gafAag:-

@A) fAfderzor smageRand (B) 9mEft srrageRdid

(C) =19 AMTaYhATT (D) SHTYH STaYehdId
Input analysis deals with :-

(A) Funding Requirements (B) Material Requirements

(C) Labour Requirements (D) Resource Requirements

11



32. foreft oft Sushy it Tt it aur rrd=fter geft o forg orm smazaer & 2

@) fa= (B) fRgu=

) fasE (D) Swi=h | | &I g1
What is required for fixed capital and working capital of any enterprise?
(A) Finance (B) Marketing

(©) Planning. (D) None of the Above

33. A= T =i Wifdes GATY AT Ueh UehRR &2

) fague (B) wErEt

© f= (D) SuRi=h H Rl Tl

Which of the following is a type of physical resources?
(A) Marketing (B) Resources

(© Finance (D) None of the Above

34. rfefter Yoft affera &t wandt & :-
A) Tt Frfafier Foft (B) uRadfa wrdefier goft
© PufRauddfadfadsh (D) Sudwsah
Working capital may be classified as :-

(A) Permanent Working Capital (B) variable Working Capital

(C) Regular and seasonal working capital (D) All of the Above

12



35. SHhreRUTR g :-

Q) RRAITTR (B) [T 4TSI &
(€) uRad=fier sarer &2 (D) Sw~h & & IS g
Long term loan bears :-
(A) Fixed Rate of Interest (B) Zero Rate of Interest
(C) Flexible Rate of Interest (D) None of the Above
36. fafvra ardwAas Iugifrar Y Twnsit ot a3t 7T A AfFaiT w=ATglan g -
A) e gwafat & (B) shreufes wwafaat o
(C) wurt wruferat & (D) H 9 hid el
Various public utility undertakings have to invest heavily in :-
(A) current Assets (B) Fictitious Assets
(C) Fixed Assets (D) Noneof these

37. gk Yol areft sheut & forg smanier 3Ar g :-
@) ¥ (B) sifard (C) smasaes (D) &6 @ &S =g
For a joint steck company payment of dividend is :-
(A) Voluntary (B) compulsory (C) Necessary (D) None of these

38. sier g d gqfg 8 :-
Q) HvFHE (B) <RI &1 U
(C) eIV =1 yaTg Bl (D) &7 & =lE &I
Increase in Share Premium is :-
(A) Sources of Fund (B) Application of fund
(C) No flow of fund (D) None of these

13



39. sRUTYS & fAifua grT = fa T sha @ -

() RN T T (B) Y& Ha
(C) IV T viaTg &l (D) s Qi T

Purchase of goodwill by issuing debentures is :-

(A) Application of fund (B) Sources of fund

(C) No flow of fund (D) None of these

40. AIER STd Teh H Y gadT ol ATTA @ df IR J=ad: T giar g :-

A) TRAaT R (B) sirga @
(C) =nte= eHaT @ (D) ATHE—IhdT @

The primary concern of creditors when assessing the strength of
a firmis the firm's :-

(A) Liquidity (B) Share Price

(C) Solvency (D) Profitability

41. <Te] T BT & :-

@A) onfde fRAgr srqura (B) v gIfY arquTa

() fafsxa srgura (D) 399 9 i A1
Current ratio is :-

(A) Balance Sheet Ratio. (B)  P/LRatio

(C) composite Ratio (D) None of these

14



42, THY AT JUTA IHTAT @ :-
(A) a=erar U |
(©) Franefierar srqura &

(B) @TvETehdr SrguTd A
(D) fo=fta fAfS srqura &
Stock Turnover Ratio comes under :-

(A) Liquidity Ratio (B) Profitability Ratio

(C) Activity Ratio (D) Financial Position Ratio
43. AT d A FlF-aTdae g agia ?

@) R e (B) urRfWe =g

© qa@' (D) foRera

Which of the following is not an Operating Expenses?

0:V) Advertising Expenses (B) Preliminary Expenses

(C) wages (D) Rent

44, 32t AT U gl g :-

@) 21 B 1:2
(c) 3:2 (D) 41
Ideal current ratio is :-

a) 2:1 B) 12
© 3:2 D) 41

15



45. = d @ i #Hf au-fa=3< RAscwor fir HFar i @ 2

() deh=iteht fe=ar (B) @ fAvTeT=

(C) =g - ST Wi i Iughar (D) faera gea A uRad=
Which of the following is not a limitation of Break-even Analysis ?

(A) Technical Stability (B) Cost Segregation

()] Suitability of multi-product firm (D) Change in selling price

46. = d @ 19 91 99- A< A=A9ur HY ToET FT AT E ?

@A) wforda fafe (B) craTfREg fafa
© (A = (B)ak=t (D) A (A) 3R (B)
Which of the following is a method of computation of Break even analysis ?

(A) Mathematical Method (B) Graphical Method

(C) Both (A) & (B) (D) Neither (A) nor (B)

47. R e gd gaar1 faera A e adf F e frar man 2
(A) 1975 (B) 1986
(C) 1988 (D) 1990
Technological Development and Information Company of India was
estabhlished in which year ?
() 1975 (B) 1986
(C) 1988 (D) 1990

48. IS Agar g :-

A) s sifem  (B) arefe sif@w (C) aESRATH (D) 399 @ =i 7

Venture capital contains :-

(A) HighRisk (B) AdventureRisk (C) NoRisk (D) None of these

16



49. SiifEw gsit faemar A= grr wnftq fvar mar -

(A) 3 g ¥t arrd ®) g o

) oermgdtaftand (D) o+t ond &t g
Risk Capital foundation was established by :-

@A) IFCI B uTl

© IDBI D) IcIcl

50. It Ysil fararR wefres Saa= gaim ?

A) YWRa# (B) @R d

(C) sevsH (D) U=
Venture capital thought was firstly originated in :-
a) India (B) America
(C)  England (D)  Japan

51. =R} AT WGRT UT: deh-I<h! dlvadr < fog ferar smar @ :-

a) 2 (B) 3

(© 4 (D) 5
Variables used for technical capability are :-

@) 2 (B) 3

(© 4 (D) 5

17



52. 18- g Utenfhl Iuysh & i s Ty g :-

Q) uepfa & sifd=re (B) wepfar & nfaefierar
©) ugpfad fRA=an (D) Sudh A+t
Labour-Intensive Technique is appropriate because it relates with :-
(A) Unstable Nature (B) Movable Nature
(©) Constant Nature (D) All of the Above

53. U heAT S :-

(A) Td & A hY (B) TwAFHAAH
(C) T hI¥ o+ Ud GERI & D) T aFHE T
1 o= g1 <ht

Management is an art of :-
(A) Doing work himself (B) Taking work from others

(C) Both for doing work himself (D) None of these
& taking work from others

54. YT <Al YTHISIeh IR & :-

@) aftFufa (B) hae senfal & ufa
(C) R Fufa (D) 9 @ &I A

The social responsibility of management is :-

(A) Towards all (B) Towards employees
(¢) Towards Government (D) None of these

18



55. IdHIA SAUTEH ATRATARAT A & :-

(A) Ug& Idred
© wryf@e

(B) SIvIcTel IaTE+

D) fzdas

Present production system, infact is :-

(A) Direct production

(C) Primary

(B) Indirect production

(D) secondary

56. Iger IaTed A Afafea =roraf@Afaa g -

@) wufw (B) f&eiaes

€ HEEw (D)  Iud=mad
The following steps are included in indirect production :-

(A)  Primary (B)  secondary

© Tertiary (D)  All of the Above

57. g AT IT @ :-

A) wnnfaa thareil ot rRffa AT (B) UTgeh! sl AT 341 Ue ARfEef At
(D) = @ a+

(C) SISl hl UAR AT
The purpose of advertisement is :-

(A) 7o attract potential buyers

(©) To make publicity of product

58. SUS IdTdT g ?

@) Rg ®) fssma (O
Brand indicates :-
(A) Symbol (B) Design (C)

19

(B) Toinform and guide customers

(D)  Allof these
am (D) z=A Qg+t
Name (D) Allofthese



59. I ey (MA=ron) Al yvfad & a1t PRk & :-

@)  fagom (B) SwrEA
© fia (D) Iug=h Gt
The factors affecting product mix are :-
(A)  Marketing (B) Production
(®  Financial (D) All of the Above
60. T 31fdh gk A7 8 :-
@) wms (B) S
(© GekfSim (D) =URATH
Maximum wide scope is of :-
A) Brand (B Labelling
(C) Packaging (D) Trademark

61l. |FClfraaid =g o ?

@A) 1939 (B) 1948

© 1950 (D) 1956
IFCI was established in which year ?

a) 1939 (B) 1948

© 1950 (D) 1956

62. SFC Act R4 # fora ol urRa ferar mar ?

@A) 1948 (B) 1949
© 1950 (D) 1951
SFC Act in India was passed in which year ?

(a) 1948 (B) 1949
© 1950 (D) 1951

20



63. AN s W ATHIT R A & :-
@A) =R (B) e C) afgw (D) sAH @ >is AT
The rate of dividend on preference share is :-

(A) Fixed (B) Variable (C) Semi-Variable (D) None of these

64. THRUIUIAEAE :-

(a) yufa: wRfAa (B) arifes TRfAa
(&) Rfaa (D) ==/ | FIE 7T
Naked debentures are :-

(A) Fully secured (B) Partly secured
(C) Unsecured (D) None of these

65. VINAhIdA g :-

@A) amf (B) foreran
©) | (D) G|
The element of cost is :-
(A)  Material (B) Rent
(© Labour (D) Expenses

66. 3 Y i T FREAT IURTT 781 8 ?

(d) FREME ST (B) w0 WR g™

©) srEn wrate e D) A=

Which of the following is not a factory overhead ?

A) Factory Insurance (B)  Depreciation on Plant
(©) Drawing office salary (D) Salary
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67. R FTTa Ul 3T Tl @ 5 -

() IURAFATATE (B) ISUERATSATE

(C) e gdadqEara (D) T A RE TS

Fixed Cost per unit increases when :-

(&) Production decreases (B) Production increases
(©) Production remains same (D) None of these

68. TaHg @ GERAT HFA S :-

) @t sifafaas (B) arstert sifaffaw (¢) srgare sifafAaw (D) a aaft

2013 1932 1872
Laws related to business is :-

(A) Company Act (B) Partenership Act (C) Contract Act (D) All of these

2013 1932 1872
69. UEHUT & HIRUT & :-
A) #Hlez mfSat quT ™A (B) it <Y sherd
(C) et gd sdE (D) g gt
The causes of pollution are :-
(A) Motor vehicle and Traffic (B) Deforestation
(C) Increasing Population (D) None of these
70. HTEH! I heled @ :-
()  FATET gt (B) FIAN
(C) uafaror vewor (D) =9 d FE
Duty of entrepreneur is :-
(A) over charging (B) Tax Evasion
(C) Environmental pollution (D) Noneof these
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Eus - d [ Section - B
(g I U / Short Answer Type Questions )

"L H&AT 1§ 20 dah oy SO &1 399 I fohegdl 10 Ut & SR 31 vt
& forg 2 aics RufRa &1 10x2 = 20

Question Nos. 1 to 20 are Short answer Type , Answer any 10 questions.
Each question carries 2 marks.

10%2 =20
1. YT <kl hivT T 82 2
What is Angle of Incidence?
2. gl YIraeR & uga™ hl raachdr =il g ? 0
Why is the need of identification of venture opportunity ?
3. fAgure &kl IS TR k1 T M 82 2
What is meant by product concept of marketing ?
4. REAYSHtaare? 2
What is fixed capital?
5. AURANTA HTE ? 2
What is Opportunity Cost ?
6. A= gaaT & MTYR WR Hehed ATH 31U fAerTfog 2 2
fasra 8,00,000
Hhel ATH T UR 25%
Compute Gross Profit Ratio on the basis of the following
information :-
Sales 8,00,000
GP on cost 25%
7. ITSTR 3fdelieh T g2 gg SarHl o g ol St 82 2

What is Market Assessment ? Why is it needed for an
entrepreneur ?
23



8. uyw Wi <k Safal g1 = gwwarert &t w1 fohar sirar 8, 39 H
& foredt gt i gt a=13g ?

List any two problems faced by first generation entrepreneurs ?

9. HytenfrhY hr sraer=om = gt &2
What is the concept of technology?

10. U&= Qah 3129 2Mf~h g1 ol ?

Management is an invisible power. Why?

11.. fre fAg=r fafdat & ==f fifeg 2

Discuss the methods of quality control ?

12. GhfShT @ MU T EHA & ?
What do you mean by packaging ?

13. gt Frd T UdaT RTgaT g ?

What is promotion of a venture ?

14. HiT gaiga & wifeadhia fafd o gid 82

What is the statistical method of demand forecasting ?

15. < e vfasgard &2

Is Planning futuristic ?

16. HHTN R IEHN FAFTEAE?

How do entrepreneurs differ from employees?

17. A AT | =1 I1al 61 qHTA LT giet 82

What elements are included in the prime cost?

18. fAAlSH &t g i depiier Ia13T ?

Mention any three techniques of planning ?

19. Y1gNAeh i ht sheqT T 8?2

What is imagination of a venture?

20. SuHl Td IUfAET H 3idR Id18¢ |
State the difference between entrepreneur and
entrepreneurship.
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(€ ST U / Long Answer Type Questions )

U G121 9 26 deh e Tda g1 39H A fhgl 3 usat F IR 1 udh &k
fore 5 sies FRuflRa &1 3x5 =15
Question Nos. 21to 26 are Long answer Type. Answer any 3 questions.

Each question carries 5 marks. 3x5=15

21. T4 IUhH hl TATfAT - & gd A1t ot fohT simaae ardaf or
AT 3471 T1fgu ?
What essential factors should be considered by an entrepreneur
before setting up a new enterprise?

22, STSTR Jedichl & T AT HSAA & ? dSTR Jedich U UHIT
ST IT! Ueeh hiA-ahid T &2
What do you mean by Market Assessment? What are
the factors affecting Market Assessment ?

23. Y=L YT ULATH § RIT 3icR 87 T YA Uel=¢l <hl Ueh 3iTT @ ?

What is the difference between management and administration? g
Is administration a part of management ?

24, Hqfeg i orfifaat v g ?

What are the growth strategies?

25. GUTedT Ufdded R o faf@u)

Write a note on feasibility report.

26. STUATH YUS ehig=1 hY Yehed AT AT £12,00, 000 & FAT JeTe =g
¥4,50,000 21 3gehe T4,80,000 g1 av &t fasht £27,00,000
&, AZ 1 Ut <hl orT Kfag ?
The Gross Profit Margin of Agarwal & Company is ¥12,00,000 and
the operating expenses are ¥4,50,000 . The taxes to be paid are

34,80,000. The sales for the year are ¥27,00,000. Calculate the Net
Profit Ratio.
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